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g K& IUHF S4E | 15 <k BUE B/aA% Figm B
EORKIEIST with A INA TS 2 | B 9.050 9.150 18.200 9.100 Eol=1
EORKREIST R 5% AFNZ V)L 2 | B 8.500 8.850 17.350 8.675 RE
EoRKEIST & =2F Y/ 24N 2 | & 8.250 8.800 17.050 8525 $RE
EHORKRIST RIRE £ FHNS 23 4 | & 8.300 9.000 17.300 8.650 RE
EHORKRIST = +hLZ AL 5 | & 8.600 8.950 17.550 8.775 RE

KREHIRISD R GE =k 4 4 | B 7.900 8.500 16.400 8.200 tRE
REHIREIFD RE FHY avx 4 | B 8.300 9.300 17.600 8.800 RE
REHIRISD ARH BF HR4A A0 4 | & 8.450 9.100 17.550 8.775 RE
KREAKIRYTD HwH B¥ LA EAR 4 | & 8.550 9.400 17.950 8.975 RE

I B RR—Y D EF aiE XS J9K 54F 3 | B 9.000 9.050 18.050 9.025 o=
FU—LKBEISTIRR L8 LE I/ a3+ 5 | & 8.350 8.300 16.650 8.325 RE
FU—LFBEISTIHE RAEZEE FTHE= 997 5 | & 8.600 8.600 17.200 8.600 RE
FU—LKBEISTIHE ik Th 7Y FY f2 | & 8.650 8.200 16.850 8.425 RE
FU—LGKBEISTIHE 7 %A —> a7 h2 | & 8.850 8.750 17.600 8.800 RE
KBTI A & 4% B2k A4 I35 2 | & 9.200 9.500 18.700 9.350 Eol=]
HRIARBE A% 5 hyzsa vany ti2| B 8.850 9.450 18.300 9.150 Eot=1
REHIEITT EH & r=H 7AE 5 | B 8.000 9.150 17.150 8575 $RE
REHIEIST HH Fi¥ LB YT 6 | & 8.100 9.600 17.700 8.850 $RE
KEHIRISD AH FER VIEYTF 6 | & 8.150 9.100 17.250 8.625 RE
KEKIRYSD HE ER JING A9h 3 | & 8.350 8.400 16.750 8.375 R
RKEHHRELER AR HBF AHA A0 5 | & 8.500 8.750 17.250 8.625 tRE
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g K& UHF (R <k BUE BREE Figm H
KiEmikigE L ER ZHEER PEZ AL RS 8.300 8.100 16.400 8.200 S
REMHFRBELER AR #2F AHA 1)y 1| & 8.500 7.800 16.300 8.150 RE
KiEHAKELEH Bl =T AFHI Voh 2 | & 8.300 7.750 16.050 8.025 $RE
KEMREDER 2K BE +7 %Nt 2 | % 8.300 7.900 16.200 8.100 RE
REMKREVER R ZF NS FR 2 | % 8.600 7.550 16.150 8.075 R
AEHHREVER =11 B3R SYHD EED 2 | & 8.500 7.950 16.450 8.225 ;RE
KiEMKREDER B LB K EE/ A1 3 | & 8.300 8.150 16.450 8.225 =
KiEmARADER INGE R any a4y 3 | &8 9.000 9.750 18.750 9.375 > E
KEMAREVER =1 R SYHD Y 3 | B 8.500 8.850 17.350 8.675 ;RE
I B R A Y EE AR RR ARx FH I EE:S 8.350 9.200 17.550 8.775 RE
IR BRI YHE AH 1EE RS Aok 1|8 8.000 8.750 16.750 8.375 RE
I B R 2 Y LR [(EP&l 2 | % 9.000 9.000 18.000 9.000 oy
I, B R B2 Y E h B &EE FTHhY< 7 2 | % 9.500 9.000 18.500 9.250 oy
I BRI YHE B8 A NYRT Y7+ 3 | % 8.800 8.600 17.400 8.700 RE
I, B R 2 YR R RS AYIH 21 4 | & 9.300 9.800 19.100 9.550 o)
I, B R 2 YR L sl k=D 4 | & 9.150 8.950 18.100 9.050 =)
I, B R A2 YR )R BAFHT ) 4 | & 8.550 7.950 16.500 8.250 RE
I B R VB E At X FhLS I3/ 4 | % 8.250 7.200 15.450 7.725 $HE

Gsports 1kik EIE Hho /T 1| 8 7.700 7.350 15.050 7.525 RE

Gsports AR TiE OEETES 2 | B 8.000 7.450 15.450 7.725 A&

Gsports 1k =8 Pk 2 | B 7.500 7.500 15.000 7.500 AE

Gsports ME 2 B4 3 | & 8.150 7.450 15.600 7.800 AE

Gsports 25 EE rSLT ARSI 3 | & 8.150 7.700 15.850 7.925 A&

Gsports BN fiE ¥ LZ Fxay FEE:S 7.750 8.000 15.750 7.875 e

Gsports LS EERGd == 4 | % 8.450 7.700 16.150 8075 =

Gsports 1k & Hho LY 4 | B 8.650 8.200 16.850 8.425 =

IFRES 1= FIRIESST K BLRE *AT 34h 2 | & 8.300 7.650 15.950 7.975 A&

IERR 1 =7KIEISD KE FIER X/ LtF 2 | & 8.550 8.000 16.550 8.275 RE

IFER 1 =7KIEISD TS HAN< A+ 4 | & 8.600 8.300 16.900 8.450 RE

IERR 1 =7KIEISD L8 Fk Fat HY 5 | B 8.150 7.950 16.100 8.050 RE

IFERC1=T7IKIEY5T EAITED-) A< oagtkA | 5 | B 8.650 8.750 17.400 8.700 RE

ERARIREITD Tk % tURY Ev) 3 | % 8.200 7.500 15.700 7.850 fHE

EREIREITD =& rY< T FE:S 8.450 7.250 15.700 7.850 fHE

EREIREITT VhiE 3 Y4 L3 FEE:S 8.150 7.300 15.450 7.725 fRE

I BT RAR—Y D EH WA &R IVEY EF 5 | & 7.850 7.450 15.300 7.650 $HE

I B RAR—Y D EM B L8 im R EE/ A4k 4 | B 8.550 8.050 16.600 8.300 RE

Iy B RAR—V D H Nk T heo /4 4 | & 8.600 7.500 16.100 8.050 RE

I B RAR—Y D& H MR ZRER aNnNvY B4Ry 3 | B 8.300 7.900 16.200 8.100 IRE
I B 71 R7AR—Y /D H Nk kK hb XA 2 | % v % — —

KiEmREDER L EnN HI YU IRYT 4 | B 7.100 7.700 14.800 7.400 A&

AEHHREVER Bl #F AF+HT 24h 4 | % 8.500 7.850 16.350 8.175 5

REFAREVER B RS JAFA I 4 | % 8.100 7.050 15.150 7575 A&

KiEdAREDER 2H e T/ akR 5 | & 8.500 7.300 15.800 7.900 RE

KiEMHREDER B RFD AJHT T 5 | & 8.500 7.150 15.650 7.825 AE
KiEHEROER INFEE a73 197 5 | & X7y 7y — —

KiEMKREVEH IR BETY anvye e+/ 5 | & 8.600 7.350 15.950 7.975 R

KEFHRELEH N AHE 2=V 5 | % 8.200 7.300 15.500 7.750 $HE

KEEMTHRELEH ik FE Hho NILT 5 | & 8.350 7.450 15.800 7.900 fHE

KEMEELER RE Ewl PAPEVILE 5 | & 8.750 7.800 16.550 8.275 RE

KEMTFELEH BEEEE BHINY RN 5 | & 8.050 7.650 15.700 7.850 fHE

REAKIRYTD INF {EIE 75 %Y 5 | B 8.100 7.900 16.000 8.000 SRE

HRIAIRBE 2R kB 5047 7hY) 2 | & 8.350 7.350 15.700 7.850 fHE

HRIAIRBE g% B Yo ar 3 | & 8.500 7.450 15.950 7.975 $HE
HRIAIRBE A EA XX YA 4 | B *rv *Tv — —
HRIARBE BAR Bk YAHER X)L B | B F4ry x5y — —

HRIARBE RE =5 ¥y a7 fi1| B8 8.400 7.900 16.300 8.150 RE

RARIRBE = MR Sy M4+ 3 | & 9.100 8.500 17.600 8.800 RE

H=IHAEYSD Ha BN hARY RN 3 | % 8.400 7.350 15.750 7.875 A&

Gsports B IEE FF LS EHFX 6 | B 8.050 7.650 15.700 7.850 A&

Gsports =iE BiE BANY 4T 3 | B 8.000 7.450 15.450 7.725 A&

Gsports KB Bk FATT 7oA 5 | & 8.300 7.150 15.450 7.725 AE

I B R AV E A BT FhLS e/ 5 | & 8.050 7.100 15.150 7575 R

I B R Y E HiR &+ LS5HH NILE 6 | B 8.000 7.900 15.900 7.950 T

I B R A Y I ER AFHT )3y 6 | B 8.100 8.150 16.250 8.125 RE

IR BRI YHE Rk thK Ak a4 3| & 8.200 7.850 16.050 8.025 $RE
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g K& UHF 4E | 15 <k BUE (eIt Figm H
Gsports B T2 YILAT FER FER| & 8.500 7.400 15.900 7.950 tHE
Gsports MR kE YN FF FR| & 8.750 7.800 16.550 8.275 RE
Gsports HEEE EYIR BA4H ER| B 8.150 7.600 15.750 7875 A&

R —LEFBISTER i8R LSt a9< | B 7.800 5.500 13.300 6.650 BHE
ERERISD L B YRI H$935 2 | & xry % — —
EAARISD AT i VIR 2 | & 8.150 7.200 15.350 7.675 S
HRIARHE E5 AE AT YRy | ER| B 8.400 7.100 15.500 7.750 AE
ERIAREE RS B A< )b 1| B 8.300 6.900 15.200 7.600 A&
HRARSE 1A EE HIF TAFF 1| 8 8.400 7.400 15.800 7.900 A&
HRIARSE BEM &k [ =R ] 8.600 7.300 15.900 7.950 R
HRIAIRBE FaT&R ER AN TR S 2 | & 9.500 7.700 17.200 8.600 RE
HRIAIRSE Rk SEI TR I3k 2 | B 8.800 7.750 16.550 8275 RE
HRAIRSE FH B7 v/ $49350 2 | & 8.500 7.700 16.200 8.100 =
HRIARBE EH&FE A5 £k 2 | & 8.950 7.850 16.800 8.400 R

REMHHRBELER ARRE B2 FT P vl ==d)) | & 8.250 7.450 15.700 7.850 AE
REMHRBELER fiafE #52 a v WAV LS 2 | & 8.300 7.500 15.800 7.900 A&
H=TREHGST #E 0FY HARAY EXY 1| % 8.850 7.850 16.700 8.350 RE
HI=HKIEYST WK B35 TYE THA 2 | & 8.650 7.400 16.050 8.025 RE
I BRI YHE Il £ 1h7 AX 3 | & 8.300 6.000 14.300 7.150 AE
I B RA Y E At B 9 DUIRY 3 | B *y x4y — —
I BRI YT EER B3R w"FR 25 4 | % 8.500 6.350 14.850 7.425 S
I BRI IR #E BE A1/9I XA 5 | B 8.400 6.400 14.800 7.400 )=
HRIAMRAE ER BR [=EWAVIRS 2 | B 8.300 7.850 16.150 8075 By
ERIMEHE A% =02 VS Sl=i=] 2 | % 9.250 8.000 17.250 8.625 RE
HRIARSE R NES A AAFESSLA 3 | % 8.950 7.900 16.850 8.425 RE
HRAIRSE mA Bt TAXENIOHN | FE| & 8.150 7.600 15.750 7875 A
HRIAIRBE hn#k mTHIE h/o wIAH 3 | & 8.500 7.850 16.350 8.175 RE
HRIAIRSE g BF Akt Fva 3 | & 8.400 7.700 16.100 8.050 =
HRIARSE Rk 5E FUEY NILA 3 | & 8.100 7.500 15.600 7.800 AE
HRIARBE Nt BB a4 I3Hh 3 | & 8.650 7.650 16.300 8.150 ;RE
HRIARBE ESTINVE-S FHIT AN 3 | & 8.650 7.600 16.250 8.125 RE
RARRE AH BF A5 val) 3 | % 8.450 7.700 16.150 8.075 RE
ERAIERE N & hVhT 3y 4 | B 8.500 7.550 16.050 8.025 RE
ERAIRHE 5% B-PN FILt AR 4 | B 8.400 7.500 15.900 7.950 &
HRIARHE i K Fht T44 4 | B 8.050 7.500 15.550 7.775 A&
HRIARAE e MR =% FhE 4 | B 8.550 7.550 16.100 8.050 R
HRIARHE wE -7 adAy) 4F/ 4 | & 7.900 7.400 15.300 7.650 E=S
HRIAZEE REE 2 A2 )Y 4 | & 8.150 7.350 15.500 7.750 A&
RN HE Al FE AE Uk 5 | & 8.250 7.400 15.650 7.825 AE
RN HE Rk AR TR TEXS 5 | B 8.150 7.250 15.400 7.700 AE
HRIKIRSE B K BFH 24 6 | B 8.550 7.500 16.050 8.025 RE
HRAIRBE B /NF] &FhHavy 3 | & 8.100 7.150 15.250 7.625 AE
HRAIRBE 1l K— FHNT ZATF 6 | B 8.300 7.300 15.600 7.800 AE
RIBASLFAER PR ERCE ESAXS =Fh h2 | & 8.450 7.500 15.950 7.975 AE




